~
=1 ~NIL
MOBEL|LINEA nghtable

SPECS GUIDE

\
\
\




N\
\

7z DESKTOPS

Melamine top: 25 mm of thickness. Recoated chipboard with melamine of 120 grs/m? in both faces
with a density of 600 Kg/m?* + 5 %. ABS edges all around the top with a bevel of 2 mm. Edges are
fixed with melted glue and rounded in shape.

Finishes: graphite, white, grey, beech, maple, pear, wengue, light acacia, dark acacia, black, oak
or dark oak.

HPL (High Pressure Laminate) top: 25 mm of thickness. Recoated chipboard with decorative plastic
laminate of 0,8 mm of thickness with a density of 600 Kg/m?® + 5 %. ABS edges all around the top
with a bevel of 2 mm. Edges are fixed with melted glue and rounded in shape.

Finishes: graphite, white, grey, beech, maple, pear, wengue, light acacia, dark acacia, black, oak
or dark oak.

Tops are fixed to the structure of the desk with DIN 7991 M6 X 16 zinc screws.

5 cm round edges.

ﬁ@ﬁ



WOOD FRAME

U-SHAPE FRAME

Steel cold laminated beam of 50 x 50 x 1,5 mm (finishes: silver, graphite or black) joined to 2 beech
veneer wood columns of @73 - @38 mm.

In the lower side of the frame there are PP black levelers with spherical roller bearing (M8, + 1,5 cm
height and 15° tilted).

Columns are joined to the metal beam with a steel plate and white-zinc @7 x 50 mm screws.

Reinforcement beams to fix both sides: 2 rectangular steel tubes of 50 x 30 x 2 mm. Same finishes
of the structure-beam.

Reinforcement beams are joined to the U-shape frame with two steel plates and white-zinc DIN
7991 M6 x 16 screws.

OPTIONAL COMPLEMENT

Footrest: round curved and continuous steel tube of 22 x 2 mm. It is joined to wood columns with
steel plates and DIN 7991 M6x16 black screws. Same finishes of the structure-beam.

‘ / 1 r()

- - o Footrest

f@



—!' MEASUREMENTS (cm)

TABLES WITH ROUND EDGES:

\‘l Tl
i ‘\‘u 1
oW 1085
o\
U
80 160 120

80

1

—— FINISHES

7z MELAMINE DESKTOPS

Light acacia

Dark acacia

Graphite

2 TEXTURED MELAMINE DESKTOPS

Dark oak

WOOD FRAME

Beech wood

Pear

Wengue



	Botón 1: 
	Botón 2: 
	Botón 5: 
	Botón 10: 
	Botón 105: 
	Botón 103: 


